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QUESTION 1

In the figure, which of the angles are acute angles? 

A. angles A4 and A6 

B. angles A1 and A4 

C. angles A2 and A3 

D. There are no acute angles in the figure. 

Correct Answer: C 
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QUESTION 2

Given that 5 cm on a map represents 4 km on the ground, calculate the distance in km between two points, which are 8
cm apart on the map. 

A. 64 km 

B. 10 km 

C. 6.4 km 

D. 2.5 km 

Correct Answer: C 

 

QUESTION 3

What is the value of the expression: 3 + 2(3 + 4)2 - 6 

A. 239 

B. 95 

C. 19 

D. 38 

Correct Answer: B 

 

QUESTION 4

If 42.8 kg is divided into two parts, in a ratio of 7/2, how many kg is the smaller share? 

A. 9.51 kg 

B. 12.22 kg 

C. 0.856 kg 

D. 21.4 kg 

Correct Answer: A 

 

QUESTION 5

Latest TEAS-SECTION-3 Dumps | TEAS-SECTION-3 VCE Dumps | TEAS-SECTION-3 Braindumps                               3 / 4

https://www.pass4itsure.com/teas-section-3.html
https://www.pass4itsure.com/teas-section-3.html
https://www.pass4itsure.com/teas-section-3.html


https://www.pass4itsure.com/teas-section-3.html
2024 Latest pass4itsure TEAS-SECTION-3 PDF and VCE dumps Download

An investor purchased a total of 800 shares of stock from six different corporations. The graph represents the total
number of shares in his portfolio and shows the distribution of shares purchased from each company. 

How many of the total shares were purchased from Dr. Pepper Snapple Group? 

A. 176 

B. 136 

C. 190 

D. 152 

Correct Answer: A 
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